
5613/(Set : A)/ II   P. T. O. 

CLASS : 12th (Sr. Secondary) Code No. 5613 
Series : SS-April/2021 
Roll No.           

HkwxksyHkwxksyHkwxksyHkwxksy    
GEOGRAPHY 

HkkxHkkxHkkxHkkx – II 
PART – II 

¼¼¼¼oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u½iz'u½iz'u½iz'u½ 

(Objective Questions) 

ACADEMIC/OPEN 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 30 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 30 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
        All questions are compulsory.    
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 (ii) iz'u la[;k 1 ls 23 rd cgqfodYih; iz'u gSaA fn, x, pkj fodYiksa esa ls ,d lgh ,d lgh ,d lgh ,d lgh mÙkj pqfu,A 
iz'u la[;k 24 ls 30 rd oLrqfu"B iz'u gSaA izR;sd dk mÙkj ,d,d,d,d ;k nksnksnksnks 'kCnksa'kCnksa'kCnksa'kCnksa ;k okD;ksaokD;ksaokD;ksaokD;ksa esa 
nhft,A izR;sd iz'u 1 vad dk gSA lghlghlghlgh mÙkj viuh mÙkj&iqfLrdk esa fyf[k,A 

  Question Nos. 1 to 23 are multiple choice type questions. Choose the one 

correct answer from given four options. Question Nos. 24 to 30 are objective 

type questions. The answer of each question may be given in one or two 

words or sentences. Each question carries 1 mark. Write correct answer in 

your answer-book. 

1. fuEufyf[kr esa ls dkSu-lk ekuo Hkwxksy dk mixeu ughaughaughaugha gS \ 1 

(A) {ks=h; fofHkUurk (B) ek=kRed ØkfUr  
(C) LFkkfud laxBu  (D) vUos"k.k vkSj o.kZu 
Which one of the following is not an approach in Human Geography ? 

(A) Areal differentiation  (B) Quantitative revolution 

(C) Spatial organization  (D) Exploration and description  

2. fdlus uo-fu;frokn dk izfriknu fd;k \ 1 

(A) fxzfQFk Vsyj  (B) Cyk'k  
(C) gafVaxVu  (D) fjVj 
Who proposed the concept of Neo-determinism ? 

(A) Griffith Taylor  (B) Blache  

(C) Huntington (D) Ritter  

3. fuEufyf[kr esa ls dkSu-lk ,d fojy tula[;k okyk {ks= ughaughaughaugha gS \ 1 

(A) vVkdkek (B) Hkwe/;js[kh; izns'k 
(C) nf{k.k-iwoZ ,f'k;k (D) /kzqoh; izns'k 
Which one of the following is not an area of sparse population ? 

(A) The Atacama  (B) Equatorial Region  

(C) South-East Asia  (D) Polar Regions  

4. vkS|ksfxd Økafr ds le; fo'o tula[;k fdruh Fkh \ 1 

(A) 30 djksM+ (B) 40 djksM+ 
(C) 55 djksM+  (D) 60 djksM+ 
What was world-population at the time of Industrial Revolution ? 

(A) 30 Crore  (B) 40 Crore  

(C) 55 Crore  (D) 60 Crore 
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5. fuEufyf[kr esa ls dkSu-lh la[;k tula[;k ds dk;Z'khy vk;q oxZ dk izfrfuf/kRo djrh gS \  1 

(A) 15 ls 65 o"kZ  (B) 15 ls 66 o"kZ  

(C) 15 ls 64 o"kZ  (D) 15 ls 59 o"kZ  

Which one of the following figures represents the working age group of the 

population ? 

(A) 15 to 65 years  (B) 15 to 66 years  

(C) 15 to 64 years  (D) 15 to 59 years  

6. fuEufyf[kr esa dkSu-lk ns'k mPp ekuo fodkl okyk ughaughaughaugha  gS \ 1 

(A) ukosZ   (B) vtsZUVkbuk 

(C) tkiku  (D) feò 

Which one of the following is not a country with high human development ? 

(A) Norway  (B) Argentina  

(C) Japan (D) Egypt  

7. Qwyksa dh Ñf"k dgykrh gS % 1 

(A) Vªd QkfeZax  (B) dkj[kkuk Ñf"k 

(C) fefJr Ñf"k (D) iq"iksRiknu 

Growing of flowers is called : 

(A) Truck farming  (B) Factory Farming  

(C) Mixed Farming  (D) Floriculture 

8. fuEu esa ls dkSu-lk Ñf"k ds izdkj dk fodkl ;wjksih; vkSifuosf'kd lewgksa }kjk fd;k x;k \ 1 

(A) dksy[kkst  (B) vaxwjksRiknu  

(C) fefJr Ñf"k (D) jksi.k Ñf"k 

Which one of the following types of cultivation was developed by European 

colonists ?  

(A) Kolkoz (B) Viticulture  

(C) Mixed Farming  (D) Plantation  
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9. fuEufyf[kr esa ls dkSu-lk ,d r`rh;d fØ;kdyki gS \ 1 

(A) [ksrh   (B) cqukbZ  
(C) O;kikj  (D) vk[ksV  
Which one of the following is a tertiary activity ?  

(A) Farming  (B) Weaving  

(C) Trading  (D) Hunting  

10. fuEu esa ls fdl izdkj dh cfLr;k¡ lM+d] unh ;k ugj ds fdukjs gksrh gSa \ 1 

(A) o`Ùkkdkj  (B) pkSd iêh 
(C) js[kh;  (D) oxkZdkj 
Which one of the following forms of settlement develops along either side of 

roads, rivers or canals ?  

(A) Circular  (B) Cross-shaped  

(C) Linear  (D) Square  

11. fodkl'khy ns'kksa dh tula[;k ds lkekftd <k¡ps ds fodkl ,oa vko';drkvksa dh iwfrZ esa dkSu-ls izdkj 
ds lalk/ku lgk;d gSa \ 1 

(A) foÙkh;  (B) ekuoh;  
(C) izkÑfrd  (D) lkekftd  
Sufficiency of which type of resources can help to create adequate social 

infrastructure catering to the needs of the large population in the developing 

countries ? 

(A) Financial  (B) Human  

(C) Natural  (D) Social  

12. fuEufyf[kr esa ls dkSu-lk ,d lewg Hkkjr esa fo'kkyre Hkk"kkbZ lewg gS \ 1 

(A) phuh-frCcrh  (B) vkWfLVªd  

(C) Hkkjrh; vk;Z  (D) nzfoM+ 

Which one of the following is the largest language group of India ? 

(A) Sino-Tibetan  (B) Austric  

(C) Indo-Aryan  (D) Dravidian  
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13. Hkkjr ds fuEufyf[kr jkT;ksa esa ls fdl ,d esa 0 – 6 vk;q oxZ ds cPpksa esa fyax vuqikr fuEure gS \ 1 

(A) xqtjkr  (B) iatkc  

(C) gfj;k.kk (D) fgekpy izns'k  

Which one of the following States of India has the lowest child sex ratio 0 – 6 

years ? 

(A) Gujarat  (B) Punjab 

(C) Haryana  (D) Himachal Pradesh 

14. fuEufyf[kr esa ls dkSu-lk uxj unh rV ij vofLFkr ughaughaughaugha  gS \ 1 

(A) vkxjk  (B) iVuk 

(C) Hkksiky  (D) dksydkrk 

Which one of the following towns is not situated along the bank of the river ? 

(A) Agra  (B) Patna 

(C) Bhopal   (D) Kolkata   

15. fuEufyf[kr esa ls ty fdl izdkj dk lalk/ku gS \ 1 

(A) vtSo lalk/ku  (B) tSo lalk/ku  

(C) vuohdj.kh; lalk/ku  (D) pØh; lalk/ku  

Which one of the following types describes water as a resource ? 

(A) Abiotic resource  (B) Biotic resource  

(C) Non-renewable resources  (D) Cyclic resource  

16. fuEufyf[kr esa ls fdl LFkku ij igyk ijek.kq ÅtkZ LVs'ku LFkkfir fd;k x;k Fkk \ 1 

(A) dyiDde  (B) ujkSjk 

(C) rkjkiqj  (D) jk.kk izrki lkxj 

On which station out of the following, the First Atomic Station was set up ? 

(A) Kalpakkam  (B) Narora  

(C) Tarapur  (D) Rana Pratap Sagar  
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17. vkbZ0 Vh0 Mh0 ih0 fuEufyf[kr esa ls fdl lanHkZ esa of.kZr gS \ 1 

(A) lefUor i;ZVu fodkl izksxzke  

(B) lefUor tutkrh; fodkl izksxzke  

(C) lefUor ;k=k fodkl izksxzke   

(D) lefUor ifjogu fodkl izksxzke  

I. T. D. P.  refers to which one of the following ?  

(A) Integrated Tourism Development Programme  

(B) Integrated Tribal Development Programme 

(C) Integrated Travel Development Programme  

(D) Integrated Transport Development Programme 

18. lu~ 2001 dh tux.kuk ds vuqlkj] Hkkjr dh tula[;k fuEufyf[kr esa ls dkSu-lh gS \  1 

(A) 102.8 djksM+   

(B) 318.2 djksM+ 

(C) 328.7 djksM+   

(D) 2 djksM+ 

India's population as per 2001 census is :  

(A) 102.8 Crore   

(B) 318.2 Crore  

(C) 328.7 Crore  

(D) 2 Crore 

19. dkSu-lk dkjd fofue; esa lfEefyr ughaughaughaugha gksrk \ 1 

(A) O;kikj  (B) ifjogu  

(C) lapkj  (D) osru 

Which factor is not included in exchange ? 

(A) Trade  (B) Transport  

(C) Communication  (D) Salaries  
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20. os dke ftuesa mPp ifj.kke vkSj Lrj okys vUos"k.k lfEefyr gksrs gSa] dgykrs gSa % 1 

(A) f}rh;d fØ;kdyki (B) prqFkZ fØ;kdyki 

(C) izkFkfed fØ;kdyki (D) iape fØ;kdyki 

Jobs that involve high degrees and level of Innovations are known as :  

(A) Secondary activities  (B) Quaternary activities 

(C) Primary activities (D) Quinary activities 

21. fdl jkT; esa xjhch js[kk ls uhps yksxksa dk izfr'kr vf/kd gS \ 1 

(A) vle  (B) fcgkj 

(C) mM+hlk  (D) e/; izns'k  

Which State has the highest percentage of people below poverty line ? 

(A) Assam  (B) Bihar  

(C) Odisha  (D) Madhya Pradesh 

22. dkSu-lk uxj ,d iz'kklfud uxj gS \ 1 

(A) lwjr   (B) okjk.klh 

(C) djuky  (D) xk¡/khuxj 

Which is an administrative town ?  

(A) Surat  (B) Varanasi 

(C) Karnal  (D) Gandhinagar  

23. fdjhcq: yksgs fd [kku fdl jkT; esa fLFkfr gS \ 1 

(A) fcgkj  (B) vksfM+'kk 

(C) >kj[k.M  (D) NÙkhlx<+ 

In which State is Kiriburu mine located ? 

(A) Bihar (B) Odisha  

(C) Jharkhand  (D) Chhattisgarh 
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24. lalkj esa lcls vf/kd tula[;k o`f) nj fdl egk}hi esa gS \ 1 

Which Continent has the highest growth rate of population in the World ? 

25. r`rh;d fØ;kdyki fdl lsDVj ls lacaf/kr gS \ 1 

To which sector do tertiary activities are related ? 

26. fo'o esa lcls vf/kd tula[;k okyk uxj dkSu-lk gS \  1 

Which is the largest populated town of the World ? 

27. Hkkjr esa igyh iw.kZ tux.kuk dc gqbZ \ 1 

When was the first complete census held in India ? 

28. dksbZ nksnksnksnks izkFkfed fØ;kvksa ds uke fy[ksaA  1 

Name any two primary activities.  

29. O;kikj fdl oxZ dh fØ;k gS \  1 

To which category of activities does Trade belong ? 

30. dkSu-lk [kfut ^Hkwjk ghjk* ds uke ls tkuk tkrk gS \ 1 

Which mineral is called 'Brown Diamond'.   

S 


